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1000, 808 122 0.9 - 0.5 0.5 14 0.9 2.8
- 146 119 11 - 10 - - 1 5
1000, 815 75 - - 6.8 - - 0.7 34
N 38 30 1 - - 7 - - - -
ALERARE 100.0{  78.9 26 - - 184 - - - -
N 21 20 - - - - - - - 1
B 1000 952 - - - - - - -| a8
515 294 190 3 11 1 3 3 4 6
\F-
SL=FTh 1000,  57.1 36.9 0.6 2.1 0.2 0.6 0.6 0.8 1.2
@ mtERE
> LS AT DORIEXISRE R T MEFE2 L TWD ] X HRERL T\ 5 |
CEE LT
> EZETERE | DEIEXISRE R T MEFE2 L TWD ] X HRERL T\ 5 |
ZRE LTS
% B B3 b B T i % i3
ey ES = 74 %= 5 -3 PN ) ]
# =2 £ =2 1 =2 = 2 fth &
S| -}
2 1K 2728 1799 794 10 21 22 30 9 13 30
1000/ 659 291 0.4 0.8 0.8 1.1 0.3 0.5 1.1
= 1675 945 635 9 20 17 22 9 6 12
EROBA 1000/ 564| 379 05 12 10, 13/ 05 04 07
IS—hTILISA | 664 573 75 - - 2 5 - - 9
ok 100.0| 86.3 11.3 - - 0.3 0.8 - - 14
% RE-EiE- 2 194 120 66 - - 1 3 - 2 2
b SEaN=] 100.0 61.9 34.0 - - 0.5 15 - 1.0 1.0
B HEEE(RikE 165 139 16 - 1 - - 2 6
HEE) 100.0 84.2 9.7 - 0.6 0.6 - - 1.2 36
30 22 2 1 - - 3 1
T0Ht 1000 733 6.7 3.3 - 3.3 - - 100 3.3
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@ JEERI (KMOCHREZIIEBE OB L FE L TV L HEXFELA D D5EA)

> EERRAE AR E TR HE OB L FE L TH L5680 > Eb A D54,

ShIT, BEERbU

T MEFAEZL TS T HREELCWb ] #EIE L

HE & B /3 b i3 T i z =
T £ = 17 %= 5 = VN ) =]
] [} R 2 n 2 2} [} fth %
A =}
T BEITEBED 217 182 30 0 0 0 0 1 0 4
BERBE A/ FELE 100.0 83.9 13.8 0.0 0.0 0.0 0.0 05 0.0 1.8
@ A OEIE~DEE
B % ® R b B F i z =
= x = 177 = 5 E x ) =
# 3 B -} n [} [} [} it &
A 3
U . . 564 394 141 2 5 7 3 2 2 8
FOERORITEOLESRE 1000 699 250 0.4 0.9 12 0.5 0.4 0.4 14
P ——— . 2119 1375 635 7 14 15 27 7 11 28
FOLEENDREESUEI0UT 1000/ 649 30.0 0.3 0.7 0.7 1.3 0.3 05 1.3
3) FHOFEHMLGEREOMELA (1BHY) (EEZLTVWSAADOHEHMEZ) (&M

I-1. (8-3))

a. @R (A& - 7)

> AERGAE  BEIRIICT MEHEEL LTS LRIELES
> EERFR OEEEIT A 39.35 4 (TEFEAY L IFH 20 20) Th 5,

R I th = 53 =
T 1 3= # N X
34 E ] E &
=
2 % 12(;361(1) 3935, 3000 29.39 0.00, 180.00
B RO =) = 53 =
T 15 S # N X
34 & ] E &
=
o 1123 4639, 4000, 30.60 0.00} 180.00
% 425
Al 1299 3284, 2000 26.86 0.00; 120.00
g 492
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B R = i = 854
7' i3] R % 7\ X
# & = {[E] [l
=
207%% 158! 4353] 4000; 2753 0.00/ 120.00
~24%% 6.0
258% 309, 4410, 4000 28.12 0.00! 120.00
~291% 11.7
30%% 360/ 40.79 3000 2975 0.00/ 120.00
F | ~345% 13.6
#h 135%% 495! 3987 3000 2881 0.00! 150.00
~398% 18.7
407%% 626 37.13] 3000 2933 0.00! 180.00
~44%% 237
457% 678/ 37.03, 3000 3039 0.00, 120.00
~49%% 25.7
H I th i X 854
= 4 e # N X
M & = [l [l
=
- 250, 4024, 4000 2579 0.00/ 120.00
[kl 05
T 1219; 3905, 4000/ 2707 0.00/ 120.00
- 411} 4034 3000 2985 0.00; 180.00
BER 15.6
Bk 270573 3904, 3000 30.15 0.00! 120.00
N 2702 3577, 3000 2905 0.00/ 120.00
B IR 87| 3256, 2000/ 31.40 0.00; 150.00
£ W 3.3
ih T 272, 4112, 3000, 3099 0.00! 150.00
X =" 10.3
%18 27057; 3365, 2000, 29.74 0.00! 120.00
- 144) 3476/ 2500 3025 0.00| 120.00
b &R 55
JLER A 133 2168, 1500, 16.77 100, 60.00
B4 022 2285, 1750, 17.73 000, 60.00
PRy 1489g 4579, 4000, 2948 0.00/ 120.00
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b. FEER

(53)

> [EIEXRE BERRICT fEFEELTWDS] AL

> GBI O, 499.78 43 (K 8 IR§fE] 20 43) TH D,

B E th = = =
' 3] x= # N X
M E ] E (]
=
2522 499.78, 480.00/ 13512/ 60.00. 1080.00
= 100.0
& T th = 54 53
' 15 & # N X
M (] = & &
=
B 1068| 565.93/ 54000, 11051, 60.00; 1080.00
i 423
Al Lot 1246 44121 480.00 126.16{ 60.00i 900.00
49.4
HE| I th = = =
' i3 e # N X
£ [ = & &
=
207% 152| 523.03; 48000, 11223} 24000, 810.00
~245% 6.0
257% 294, 52759, 48000 11507 180.00, 930.00
~295% 11.7
30/% 351, 517.73| 480.00/ 11747 180.00/ 900.00
F ~345% 13.9
%5 |35/% 472| 49557 480.00, 140.88, 12000, 900.00
~395% 18.7
407% 596 486.99, 480.00 13882 60.00/ 960.00
~445% 236
457% 645 48569, 480.00 14450 60.00. 1080.00
~495% 256
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C.

>

B I = = 54 54
' i3 e # N X
# & ] [} [}
=
s 239 50145, 48000 12762 180.00. 1080.00
95
- 282 497.76, 480.00 13400 12000 900.00
[Faii:il 119
o 399 49504, 480.00 13720 60.00  900.00
15.8
8 4 200 48795, 480.00 13441 180.00/ 960.00
- 7.9
PR 193] 47658 48000, 142.09/ 60.00, 960.00
JI#S L £ 19
B IR 83| 485.18| 480.00 136.45, 180.00 960.00
£ 1L 33
Hh 0 257, 50230, 48000 12583 180.00, 960.00
X —F 10.2
195 516.06/ 48000, 138.79| 120.00; 900.00
FI4R 27
1.5 137| 495.99| 48000, 132.04/ 120.00; 900.00
5.4
AR A 132 48833 48000, 15947 24000 900.00
T 20 48900, 480.00 12445 18000/ 720.00
08
468| 51465 480.00, 132.84, 6000, 900.00
SLV=FEH 18.6
BHGER (9)
> AR ERNICT MfEFEAE LW AL
1 HD S HOHE BRI ONVEEIL, 184.66 77 (K 3 Wefl]) Th 5,
B I th 1z = =
= 15 e # N X
5 E ] & &
=
2337| 18466, 180.00/ 123.71 000/ 880.00
= 100.0
= 15 xr # I\ X
5 E ] & &
=
o 1001| 19220/ 18000 123.12 000/ 880.00
i3 4238
Al v 1146| 17947 18000 12448 000/ 840.00
49.0
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it Do =] 1z 854 854
T i3] xr #* N X
0 E = E E
=
207% 142| 23462 24000, 12524 000/ 660.00
~24p% 6.1
258 270, 21847, 21000 123.46 000/ 610.00
~29%% 11.6
30%% 329 19934, 18000 12893 000, 780.00
F ~34% 14.1
#h 1358 445| 168.14; 12000 128.79 000/ 840.00
~395% 19.0
407% 542 16199, 12000 113.25 000/ 880.00
~44% 232
457% 598, 18187, 18000 117.63 000/ 720.00
~498% 25.6
& I s 1z = =
=z 15 r # N X
] [l ] & &
=
- 221, 19418, 180.00 128.98 000/ 720.00
[k 95
T 12162 18046 180.00/ 117.88 000/ 560.00
- 367, 183.02, 18000 11560 000, 620.00
AR 157
B & 1;3; 181.18, 180.00 121.14 000/ 708.00
Nt 1;3(7) 19267, 180.00 12527 000! 780.00
B RS 74} 18324, 120.00{ 128.00 000, 51000
% 3.2
i T 238 17380, 165.00 117.45 000, 600.00
X =" 102
%18 1783 18340, 180.00! 123.36 000/ 660.00
- 124| 206.85/ 18000 137.15 000/ 610.00
bl 411 53
LB 132 19844, 180.00! 113.33 000/ 420.00
B 58 19500, 15000 12424 6000/ 480.00
TR A 1483(75 18157, 120.00! 130.32 000/ 880.00
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d.

HEARERE (99)

> [EIEXRE BERRICT fEFEELTWDS] AL

>

AR O S ¥ME I, 368.36 43 (FJ 6 FFfE] 10 43) TH 5,
Bi I th Z = =
T 15 xr i N X
# E = & [}
=
2 & 12481 368.36, 36000 61.77. 15000, 660.00
00.0
B I th 1z 54 54
T 15 £ i N X
] E = & &
=
o 1049 369.07 36000, 6268 15000, 600.00
i3 423
Al p_— 1231, 367.77 36000, 61.76 180.00, 660.00
49.6
B F & Z 53 =
T 15 £ i N X
# E = E E
=
207% 148| 37561} 36000, 5872/ 21000, 600.00
~248% 6.0
25i% 291! 380.10, 36000, 60.01 180.00/ 540.00
~208% 11.7
30% 343 373.64, 36000, 68.17/ 15000/ 660.00
F | ~345 13.8
B |35%% 468| 37077 36000, 63.73, 18000 600.00
~398% 18.9
407%% 582 36500, 360.00/ 59.78 180.00/ 540.00
~4485 235
455% 637 36000, 36000/ 5859 180.00/ 540.00
~498% 25.7
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HE Do =2 pid 54 54
' i3 e # N X
# & ] [} [}
=
s 234, 37192, 36000, 5929 24000  600.00
9.4
- 284 367.71, 36000, 6330 15000  600.00
[Faii:il 114
o 389 362.85, 360.00, 5921 180.00 540.00
15.7
B4 193] 37057 36000, 63.62 180.00; 540.00
- 7.8
PR 186| 366.77 36000, 66.16] 180.00; 540.00
JI#S L £ 75
B IR 80| 378.38| 360.00 6047, 180.00; 540.00
£ 1L 3.2
Hh 0 252, 36702, 36000 6121, 180.00  540.00
X —F 10.2
193] 37259 36000, 61.12) 24000, 540.00
FI4R 28
1.5 137| 37292} 36000, 5965 24000 540.00
55
- 35, 371.14, 360.00/ 5559 24000  480.00
LEARE 14
T 20 37800, 390.00/ 6321 180.00/ 480.00
08
465| 366.71 36000/ 6260, 18000 660.00
SLV=FEH 189

4) HE=OFHAR (FRY) (BEHEZF) [(REAI1-1. (8-4)]

O 2K - PR - A - EEHX

> [AIEMRE  mERRCT MEFEEL WD) EEE LS

> 12177~30 M) (31.2%) LWRIBELI-HEOEEN R E <, WRWT 110 J7~20 J7H |
(31.0%) TH %,

B 1 2 1 32 4 3 5 4 5 )y} "
' 0 00 0 1 0 1 0 1 1 A =]
£ b5l 5B | BB | BB | FBA Pl & &
M MAH MHE A MHH M A
* § § § § Ll Ly
i +
2 2701 487 838 844 334 88 56 9 45
100.0 18.0 31.0 31.2 12.4 33 2.1 0.3 1.7
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B 1 2 1 32 43 5 4 5 IR i1
= 0 00 0 1 0 1 01 1 A B
# i) BA BA BA BA A =« =
A AA FAA [AA[A | AA | A &
P S S § § § [ Ly
i *t
2 1k 2475 451 767 776 299 81 51 7 43
100.0 18.2 31.0 31.4 12.1 33 2.1 0.3 1.7
B 1148 29 242 481 251 74 45 1 25
i 100.0 25 21.1 41.9 21.9 6.4 39 0.1 2.2
Al it 1327 422 525 295 48 7 6 6 18
100.0 31.8 396 22.2 36 05 05 05 1.4
B 1 2 1 32 4 3 5 4 5 I 3
' 0 00 01 0 1 01 1 A E]
# sl BA BA BA BA ;) =8 %
M M A MH M H MH M A
*x S § § § I Ly
i xt
2 1k 2685 484 832 840 333 86 56 9 45
100.0 18.0 31.0 31.3 12.4 32 2.1 0.3 1.7
207% 160 16 107 36 - - - 1
~241% 100.0 10.0 66.9 225 - - - - 0.6
25m% 315 30 156 113 12 1 1 - 2
~298% 100.0 95 495 359 338 0.3 0.3 - 0.6
30m% 364 41 152 144 20 4 - 3
F ~34F 100.0 11.3 418 396 55 1.1 - - 038
B 35m% 502 94 124 186 78 10 3 2 5
~398% 100.0 18.7 247 37.1 15.5 2.0 0.6 0.4 1.0
407% 642 133 142 197 106 25 23 3 13
~44% 1000/ 207 22.1 30.7 16.5 39 36 05 20
451% 702 170 151 164 117 46 29 4 21
~495% 1000, 242 215 234 16.7 6.6 4.1 0.6 30
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HE 1 2 1 32 4 3 5 4 5 ljr} i
= 0 00 0 1 0 1 0 1 1 A =]
# B BA BA hA BA ;) =% =
M MM MM M A A H M A
* S S S S Lo LY
p +
2tk 2687 484 833 839 333 88 56 9 45
100.0 18.0 31.0 312 124 3.3 2.1 0.3 1.7
O 260 38 72 91 38 10 6 1 4
" 100.0 14.6 277 35.0 14.6 38 2.3 0.4 1.5
" 303 60 87 87 46 8 8 - 7
B ED 100.0 19.8 28.7 28.7 15.2 26 26 - 2.3
- 429 69 130 141 51 10 11 1 9
R
100.0 16.4 30.8 334 12.1 24 26 0.2 2.1
Bk 212 40 71 65 21 7 5 - 3
™ 100.0 18.9 335 30.7 99 3.3 24 - 14
N 205 52 61 56 22 5 3 - 6
s 100.0 254 298 273 10.7 24 1.5 - 29
B tER 88 20 31 27 6 3 1 - -
£ # 100.0 227 35.2 30.7 6.8 34 1.1 - -
th T 277 47 80 107 27 9 3 1 3
X =" 100.0 17.0 28.9 38.6 97 3.2 1.1 0.4 1.1
HIR 212 39 76 57 26 5 4 2 3
100.0 18.4 35.8 26.9 12.3 24 1.9 0.9 1.4
15 144 27 50 40 19 5 1 1 1
H 100.0 18.8 34.7 278 13.2 35 0.7 0.7 0.7
- 38 7 18 7 4 1 - 1 -
ALEBAREE 100.0 18.4 474 18.4 105 26 - 26 -
T 20 4 10 4 2 - - - -
100.0 20.0 50.0 20.0 10.0 - - - -
506 81 147 157 71 25 14 2 9
\ -
SW=Eh 100.0 16.0 29.1 31.0 14.0 49 28 04 1.8

© mEF¥EERE

> (BRI AI (FEY) ) ORZERSGE - mERMICT fEFEE2 LTS &
EIF- a0y

> [ ORZXMGHE  BhERMICT MEFEEZ LD T AL T 5 )
RE LTS
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HE 1 2 1 32 4 3 5 4 5 )} i
' 0 00 0 1 0 1 01 1 A E]
# B BA BA BA BA A =8 %
M MM M H M H M H M LAY
* § § § § gL Ly
i i
2tk 2693 484 838 843 332 88 56 9 43
100.0 18.0 31.1 31.3 12.3 3.3 2.1 0.3 1.6
= 1657 5 460 748 305 76 36 - 27
EROBA 100.0 0.3 27.8 45.1 18.4 46 22 - 1.6
IN—k-T7IL 650 415 212 13 - 1 2 - 7
TR 1000, 638 32.6 2.0 - 0.2 0.3 - 1.1
x RE-BiE- 192 18 125 43 3 - - - 3
i RE k| 100.0 9.4 65.1 224 1.6 - - - 1.6
B EEEE 165 37 37 33 21 10 14 8 5
(REEREE 1000, 224 224 20.0 12.7 6.1 85 438 3.0
29 9 4 6 3 1 4 1 1
TOHt 1000, 310 13.8 20.7 10.3 34, 138 34 34
(9) HHEEAOEHAR (FERY) (B#HEZ) [RMI-1. (9)]

@© 2k - MR - i - EEX

> RIENRE  ETOREE

> 131 5~40 5| (25.9%) LRIZLE=EOEEN KRB E L, RWT 121 5~30 HH |
(21.6%) TH 5D,
B 1 2 1 32 4 3 5 4 15 | k1 lijr} i
&' 0 00 0 1 0 1 01 01 0 A [=]
# B 5B  ABAA | AA | BA 0A 1 I% %
M MM MM MM HAE | BH B LAY
* S S S § M S M Ly
] L
2 3489 44 290 754 905 620 517 105 17 237
100.0 1.3 8.3 216 25.9 17.8] 148 3.0 05 6.8
H 1 2 1 32 4 3 5 4 15 | E1 I =
& 0 00 0 1 0 1 01 01 0 A =]
# Vil BA BA BA BA 0A 1 =8 =
M M M MM MM HAE | BH ;) A
* S S S S M s M Ly
i L
2 3208 41 266 689 817 575 482 99 14 225
100.0 1.3 8.3 215 255 179/ 150 3.1 04 7.0
e 1299 14 97 293 325 237, 200 36 6 91
{3 100.0 1.1 75 226 250 1821 154 28 0.5 7.0
Al v 1909 27 169 396 492 338 282 63 8 134
100.0 14 8.9 20.7 25.8 1771 148 3.3 04 7.0
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HE 1 2 1 32 4 3 5 4 15 | k1 Iz =
&' 0 00 0 1 0 1 01 01 0 A ]
# Vil BA BA BA BA 0hA 1 (=8 =
M AR A[ | AF | AA | FHE bl AN
* S S S § [z M Ly
2 3467 44 288 749 902 619 511 104 15 235
100.0 1.3 8.3 21.6 26.0 1791 147 3.0 04 6.8
207% 303 3 34 43 35 37 58 9 3 81
~245% 100.0 1.0 11.2 14.2 11.6 1221 19.1 3.0 1.0/ 267
25m% 385 2 36 99 63 63 79 20 2 21
~208F 100.0 05 9.4 257 16.4 164 205 5.2 05 55
30%% 491 4 51 144 126 74 58 7 3 24
F | ~348% 100.0 08 10.4 293 257 1511 11.8 14 0.6 49
B [358% 660 11 54 168 194 126 59 20 1 27
~395% 100.0 1.7 8.2 255 294 19.1 89 30 0.2 4.1
407% 792 9 60 155 247 151 105 19 3 43
~445 100.0 1.1 16 19.6 312 1911 133 24 0.4 5.4
455% 836 15 53 140 237 168, 152 29 3 39
~495% 100.0 1.8 6.3 16.7 28.3 201 182 35 0.4 4.7
i 1 2 1 32 4 3 5 4 15 | k1 IR i
&' 0 00 0 1 0 1 01 01 0 A =]
# Vil BA BA BA BA 0hA 1 & =
M AR A/ | AF | AA | FHA bl AN
x S S S S == an} Ly
2 & 3469 44 288 750 900 6200 512 105 16 234
100.0 1.3 8.3 21.6 259 179! 148 3.0 05 6.7
i 338 1 32 64 90 66 56 10 1 18
100.0 0.3 95 18.9 26.6 195/ 16.6 3.0 0.3 5.3
S 381 7 30 72 103 69 66 16 1 17
100.0 1.8 79 18.9 270 18.11 17.3 42 0.3 45
s 550 6 41 121 139 106 69 19 5 44
| 100.0 1.1 15 220 253 193] 125 35 0.9 8.0
Bk 260 4 22 63 55 53 39 6 1 17
T~ 100.0 15 85 242 21.2 204! 150 23 0.4 6.5
~ 268 4 17 59 77 45 36 10 - 20
JIRELLE 100.0 15 6.3 220 287 16.8] 134 3.7 - 15
B It E 115 2 16 31 30 16 9 5 - 6
£ 100.0 1.7 13.9 27.0 26.1 13.9 738 43 - 5.2
ih T 368 8 22 89 92 63 57 10 1 26
X —" 100.0 22 6.0 242 250 17.11 155 27 0.3 7.1
HI1R 268 3 28 64 66 40 36 6 1 24
100.0 1.1 10.4 239 246 149, 134 22 0.4 9.0
ez 183 2 11 38 51 31 31 4 2 13
100.0 1.1 6.0 20.8 279 169/ 169 22 1.1 7.1
- 46 2 9 7 13 8 4 - - 3
ALEBARE 100.0 43 19.6 15.2 28.3 17.4 8.7 - - 6.5
T 30 - 1 4 15 1 5 1 1 2
100.0 - 3.3 13.3 50.0 33l 16.7 33 33 6.7
662 5 59 138 169 1221 104 18 3 44
SL=Fih 100.0 08 8.9 20.8 255 184, 157 27 05 6.6
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@ IENEBATR
> [AIESRE  EToREE
i i 1 2 1 32 4 3 5 4 15 [ BL1 ljr} i
= 0 00 01 01 0 1 01 |kto A [a]
# B AR A BA BA 0A 1 =8 &
M MM MM MM HA | B H ;) IAY
* § § ! §$ 1HS A Ly
2 3471 44 288 749 903 6200 512 105 16 234
100.0 1.3 83 216 26.0 17.9] 148 30 05 6.7
15 - 2031 13 54 445 677 438 296 52 1 55
1A 100.0 06 27 219 333 216, 146 26 0.0 27
£5] 15 1440 31 234 304 226 182/ 216 53 15 179
& 100.0 22 16.3 21.1 15.7 126/ 150 3.7 1.0 12.4

1.1.2 REEORE%E EFEESVDSHDHEE)

(1) EREOFE (BHEZE) [BRMEI-2.

(10)]

> [EIENRE  EEEN WD
> EMBEOFERIL. BEOERETWANITEALE THD, Bz, 20~24 D IEE
DOEABRE 1L 20 18, 25~29 K D AIEFH OEMBRAE 1T 20 14 & N30 1%, 30~34 KD [RIEE
DOEABRZE 1L 30 REDFHEN B 5,
HE 1 2 3 4 5 6 7 i
= 0 0 0 0 0 0 0 =]
# 7 = U} = I} ® = %
LL
+
2tk 2046 1 102 694 943 266 11 - 29
100.0 0.0 5.0 33.9 46.1 13.0 0.5 - 14
HE 1 2 3 4 5 6 7 i
= 0 0 0 0 0 0 0 ]
b5 [} = = AN = L} [} &
LL
+
1871 1 97 632 854 251 9 - 27
£ & 100.0 0.1 5.2 338 456 13.4 0.5 - 14
= 681 1 47 258 344 24 2 - 5
% 100.0 0.1 6.9 37.9 50.5 35 0.3 - 0.7
Al % 1190 - 50 374 510 227 7 - 22
100.0 - 42 314 42.9 19.1 0.6 - 1.8
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5 1 2 3 4 5 6 7 =
&' 0 0 0 0 0 0 0 =]
# Y = = = = fr [} &
LA
+
2tk 2040 1 102 693 942 264 11 0 27
100.0 0.0 5.0 34.0 46.2 12.9 05 0.0 1.3
207% 15 - 10 1 1 - - - 3
~24%% 100.0 - 66.7 6.7 6.7 - - - 200
257% 114 - 52 54 5 - - - 3
~295% 100.0 - 456 474 44 - - - 26
307% 273 - 26 213 27 2 - - 5
F | ~345% 100.0 - 95 78.0 99 0.7 - - 1.8
& 35m% 459 - 10 302 134 8 - - 5
~395% 100.0 - 2.2 65.8 29.2 1.7 - - 1.1
407% 555 - 2 102 404 40 1 - 6
~445% 100.0 - 0.4 18.4 72.8 7.2 0.2 - 1.1
455% 624 2 21 371 214 10 - 5
~495% 100.0 0.2 0.3 34 595 343 1.6 - 0.8
H 1 2 3 4 5 6 7 i3
= 0 0 0 0 0 0 0 ]
] = = [} Y = = = &
LA
i
2tk 2039 1 102 692 940 265 11 0 28
100.0 0.0 5.0 33.9 46.1 13.0 0.5 0.0 14
P 214 - 5 67 92 46 1 - 3
100.0 - 2.3 31.3 430 215 0.5 - 1.4
- 245 - 9 76 132 25 - - 3
rmED 100.0 - 3.7 31.0 53.9 10.2 - - 1.2
o 324 1 21 110 148 37 - - 7
100.0 0.3 6.5 340 45.7 11.4 - - 2.2
a 137 7 53 62 13 - 1
RR 100.0 - 5.1 38.7 453 95 0.7 - 0.7
N 167 - 8 57 82 19 - 1
NI 100.0 - 48 34.1 49.1 11.4 - - 0.6
B IR 65 - 5 22 29 6 1 - 2
£ 100.0 - 7.7 338 446 9.2 1.5 - 3.1
ih T 201 - 9 61 103 25 1 - 2
X =" 100.0 - 45 303 51.2 12.4 05 - 1.0
140 - 7 52 62 17 1 - 1
AIAR 100.0 - 5.0 37.1 443 12.1 0.7 - 0.7
S 101 - 5 28 48 16 - - 4
100.0 - 5.0 217 475 15.8 - - 40
- 21 - - 10 9 1 - - 1
ALEBARIE 100.0 - - 476 429 48 - - 438
S 18 - 1 4 11 2 - - -
Bx 100.0 - 56/ 2220 611l 111 - - -
406 - 25 152 162 58 6 - 3
SLM=Fih 100.0 - 6.2 374 39.9 14.3 1.5 - 0.7
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(2) EfREOKREORR (BEHEZF) [(RMAI1-2. (1]

A\

&Rt BBE DN ND
> HERBLTWA LRI LEZEDOESIL B1I5%THY . HkBEL TWARWEEIZE L-FHDOE|
AT 455%ThH 5,

B LR LV =

T 5E | LE [E]

M L | L &

T T

2046, 1054 931 61
£ " 1000, 515 455 3.0

B W LV &=

T 5E | L E ]

# L | L &

T T

2040, 1052 929 59
= " 1000{ 516 455 29
207% 15 6 5 4
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£ 100.0 21.5 33.8 385 6.2 - -
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